A EANE L

M HAUL(BEES/HIIS)

GOl AIDIZE HAHE HHIA HE CERT
SN BB S(BH) - MBAY - BaS ggi) @(ijf;ﬁ% HRE2
A& =& 35,546,451 31,654,612 3,891,839

= 72,883
== 17,270
Al 35,456,298
HAL (BFES/HIIS) 26,120,678 22,488,786 3,631,892
= 72,883
= 17,270
Al 26,030,525
AMP2dS HAME HHIA HS 10,563,270 9,565,799 997,471
= 27,000
1= 12,000
Al 10,524,270
HAMESAIA SAIAM MEHA WS 3,000 3,000 0
201 282 A Y| 3,000 3,000 0
01 Ar®2te2ldl 3,000 3,000 0
= 0l & 3,000 3,000 0
OnEss ¢ M 7 50,000& «123] 600
OFZ2I =38 ZAE 200,000& x1H *x123] 2,400
MRS AR =4 1,853,270 1,736,741 116,529
101 ol 4| 264,466 279,174 AN 14,708
04 JIZtHZ2ZXNSE > 264,466 279,174 AN 14,708
= 0l & 264,466 279,174 AN 14,708
OJI28 4g+A 6,152
EAR=1 66,800 x6H x15 6,012
- 1188E 6,012,000 *1.5% 91
—MHEE 6,012,000& %0 .8% 49
OQUMA & M2 Hel 45,103
EAR==1 66,8002 *10H x66 44,088
- 118EE 44 .088,000& *1.5% 662
—MHEE 44 .088,000& *0.8% 353
Og8Hs MYJ| RFHE)| x5 BX 213,211
—-Jg3 66,8003 *26H x120L! 208,416
- 1NE88E 208,416,000& *1.5% 3,127
—AMEE 208,416,000& *0.8% 1,668
201 B2 A Y| 463,187 451,846 11,341
01 Ar®2telt] 86,435 75,095 11,340
= 0ff & 86,435 75,095 11,340
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SN

M FAZC(BBES/HIIS)
Sl AIRIZE HAME MHA M2 S
% = = 0l &FoH & S T 0] AFoH ~
SN -3 .42 (3H) - HEMNY - BES (ZE o) (I o) Hns2
OAIIX BAZE A (HIR)
2,000 *3Xt 2 +125F x 128 9,000
OAIIXR BAZE 24 (M)
13,0002 * 1) x125% %13 1,625
OFAXZ X =Xt 70,0002 20 x 12" 1,680
OSADISA AN T2 Dﬁ?o'(
HOITHS) 10,0002 * 151 *13] 150
OSA0ISA AAMEN OHE HEZ 2%
130,000 x3H *13] 390
OMEHII2S tiagy 282 HX
1002 20,0000 *103] 20,000
OMEHIIS HEHAM IS A
= 100,000 *102 * 13| 1,000
OSA0ISE SHALE 224 2272
100,000 *20H A+ 122 2,400
ONEET 2 EH2 =HH|(404)
40,0008 50 x 128 2,400
OHAXNY HIAMB(LHYEIEZE)
360,000 *6CH 13 2,160
oMY I EYE) 2T M=
240,000 * 1004 24,000
OMYI| HHEQRY =2 THIE M
60,0002 x25J1 A +23] 3,000
OHJI2S SYHIS QUALAR HEE (X))
) ¢ 30,0008 x261 7,830
OFAT 28 == U otz 7 10,800
—=g= 200,000 18 23 7,200
— OtA 3} 100,000 18 23 3,600
02 2E=29H| 376,752 376,751 1
=0 & 376,752 376,751 1
OFATY SXH| 329,364
— SBRA(9H) 1,200 %4420 *9CH =122 57,284
HAIJIA R (150H)
996, 1002 *15CH x 12& 179,298
— 2 H](220H) 4,217,360 x22CH 92,782
OZ2=2HAR =49 £2/dl 100,000 x20CH 2,000
OL-HEARY SERAH 2,000,000 x43] 8,000
OSADISA EHAL 22| 7,800
—®Ie=2 100,000 * 122 1,200
—NElEER2 150,000 * 122 1,800
—3MEE2 100,000 20 A« 12" 2,400
— SX 22 100,000 *20 A« 12" 2,400
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A EANE L

Ha: HAme (8

S AM2S FAHE MHA WS

o)
{0
]
{0

x s . O &t o8 & & 0] Ak o -
SA - B ER(SH) - HRAY - BES iz T HRE2
OHANT R M Xl
20,000& *2CH *43] x12& 1,920
OBARY BINLRLD
400,000& *23| *9CH 7,200
OZZHZEHD Mol4aE % &9
12,000& 123 144
OUEHIIS UHY HEANAY SN+
] 350,000& »12& 4,200
OHIISESHSII#S VEHR DM 2&
SEH RS 2,130 *8021 x23| x 122 4,090
OSGEI| ZAItHer 42l (014)t]
1,000, 0002 = 10CH 10,000
OZZMESSHD LUBLAAY ABR
169,500& = 12& 2,034
202 Ol 8,100 8,340 A 240
01 =AYl 8,100 8,340 A 240
= Off & 8,100 8,340 A 240
OAIJIN HAXE EAOH|
20,000 xbH 22 «12& 2,400
OMRI|Z SR BOAX &40
60,0002 *3H 3«53 2,700
O%AZ HEXY L DA Ot
60,000 x6H 2 x23| 1,440
OMBHIIS SHEY DIEA
60,0002 x2H x 1 %23 240
OMEHIIZ M2l EBAZ AJZA
60,000& x2H 33| 360
OHIIS2YEI NEHZ Ol
20,0003 *4H 22«68 960
203 YR F&H 4,000 1,000 3,000
03 AHMFAHSFAH 4,000 1,000 3,000
= 0fl & 4,000 1,000 3,000
OBAMY ALEF ABEXY|
4,000,000& =14 4,000
206 M=z 4l 417,168 432,281 A 15,113
01 M=l 417,168 432,281 A 15,113
= Off & 417,168 432,281 A 15,113
OMYIIZHN ZEHE (BIHE) 403,320
— 3¢ 30& *5,0000H 123 1,800
— 54 332 x10,00000 123 3,960
— 104 412 x95,00000 123 46,740
— 204 58& x260,0000H x12& 180,960
— 504 124 *70,00004 = 12& 104,160
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2AM:E
X FH -
o Tt

el

o)
{0
]
{0

Oll &F o

& 1 = 0f 4 o

SA B S(BH) - MEMY - BES iz T BlRE2
— 1004 219% x25,0000H 123 65,700
OMYI ESEHSE M (S38) 12,348
— 502 1243 +3,00000 x12& 4,464
— 1004 219%%3,00000 x12& 7,884
OLIMX MaMgdl L SAMEXHe =HE
[=DN 150,000 1094 & 1,500
301 LEtBaE 26,349 4,100 22,249
09 éAIAHIEAZ 1,389 2,100 AT
= 0fl & 1,389 2,100 AT
OXtg =gl LEX st
1,389, 000& 13| 1,389
12 JIEt2E &3 24,960 2,000 22,960
= Ol &t 24,960 2,000 22,960
OMIIEYSFI ADENS
100,000& »20H 2,000
OdeEmHIIEs =828 HeEIHM SEEIt
& 29 20,500,000& » 14! 20,500
OZHM=F HHIA NEZ
2,460,000 » 14! 2,460
307 giztold 150,000 100,000 50,000
05 QItRAEZ 150,000 100,000 50,000
= Off & 150,000 100,000 50,000
OMeIISHMNSEL SA=E S=SUHEH|
150,000, 000& * 14 150,000
401 AZBIZ =208 200,000 60,000 140,000
01 Al&UI 200,000 60,000 140,000
= Off &t 200,000 60,000 140,000
OMeE It MHR0IE= OIS Al B
JIAIE =X 50,000, 000& =14 50,000
O="YSJIl 2AIE 0S4 CCTV £X
4,000,000 *100H 2 40,000
OZ 0t SHANE &=E2 4
100,000, 000& * 14 100,000
O Ex=MH £ =H 3 HHI
10,000, 000& 14! 10,000
405  RHatHE SHI 320,000 400,000 A 80,000
01 A& ESSFHSHI 320,000 400,000 280,000
= Ofl &F 320,000 400,000 A80,000
Oda:d FAXE £+ 320,000,000+ 1CH 320,000
MEHIIES =& .28 &Y 8,435,000 7,766,058 668,942
307  2rztolE 8,435,000 7,766,058 668,942
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SN

M HAUL(BEES/HIIS)
GOl AIDIZE HAHE HHIA HE CERT
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
05 OCItRIEZ 8,435,000 7,766,058 668,942
= 0l & 8,435,000 7,766,058 668,942
OMEHII= =& .28 AU
8,435,000,000 1Al 8,435,000
ARG AS 12,000 60,000 A 48,000
== 12,000
402  QIZ2EXIE20l ™ 12,000 60,000 AN 48,000
c 12,000
02 QIAX2AILEZ(0IETHE) 12,000 60,000 A 48,000
== 12,000
= 0ff A 12,000 60,000 A 48,000
== 12,000
OdsS WM IAYIXA E2l=HE &E M
all 12,000,000 =10 £ 12,000
== 12,000
CNGEAXIZRY (BHER) 260,000 0 260,000
= 27,000
Al 233,000
405  XHaHFE S 260,000 0 260,000
= 27,000
Al 233,000
01 NMLEEFSHI 260,000 0 260,000
= 27,000
Al 233,000
= O] & 260,000 0 260,000
= 27,000
Al 233,000
OCNG EAX Y ¢ 260,000,000& * 14! 260,000
= 27,000
Al 233,000
HesE =UstE S8t A= 807,536 678,164 129,372
= 45,883
== 5,270
Al 756,383
MEZ 2eltiE =M MdAH =28 59,927 70,345 N 10,418
101 ol 24 H| 19,427 24,345 N4,918
04 JIZtHZ2Z2XNSE =+ 19,427 24,345 N4,918
= 0l & 19,427 24,345 N4,918
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SN

HATAY

o AR (2#F2S/HIIS)
Sl HEE 2MHE S8 e (B9 @2
x s . O &t o8 & & 0] Ak o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
OMEEE 22l4+7 ARAE XA 1,642
—-Jl=23 66,8002 6 *42! 1,604
- 1=y 1,603,200 *1.5% 25
— U 1,603,20021 +0. 8% 13
OMEEE =elthE MEHE 3,282
-Jl=23 66,8002 6 +8! 3,207
-1828 3,206, 4002 *1.5% 49
— U 3,206, 4002 +0. 8% 26
OHJIE AWK HBS =52l L 4%
CESIY 14,503
—-Jl=23 66,8002 *1% x212! +8 % 11,223
—FR4g 66,8002 * 1% +42 +8% 2,138
— =003 11,222,40021 *4.5% 506
-2y 11,222,40021 %3.12% 351
-ngey 11,222,40021 1.5% 169
S -Pl=El 350, 1392 +7..38% 26
— U2 11,222,4002 0..8% 90
201 syl 19,600 19,600 0
01 AtR2lH| 17,600 17,600 0
=0 & 17,600 17,600 0
OMZEE 22Hs 23 =22 M
1002 %40, 00004 +13] 4,000
OMEBES WSHMH HLS I8 HyE X
x 200,000 207 £ 4,000
OHEZS HIMHNES S5 YRS
400,000 *23] * 122 9,600
02 IS 2,000 2,000 0
=04 2,000 2,000 0
OUEHIIZ MIHE NNK SX22IH|
400, 0008 +53] 2,000
202 OfHl 2,400 2,400 0
01 =Lhoibl 2,400 2,400 0
=0 & 2,400 2,400 0
oMEs 22tz NE
20,0008 *2% *42 +63] 960
OMEBESAL HFX Hat
60,0002 *2% 42 +33] 1,440
206 MHEHl 18,000 23,500 £5,500
01 MYl 18,000 23,500 A5,500
=0 & 18,000 23,500 £5,500
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SN
X ZH -
L=

el

RPN
Hoze|(#2ES/HIIE)
Hee =

o)
{0
]
{0

SH-EH. (AN NRANY - B o ) HDE2
OoOMeass 2el=Hg 2 350,000 <404 14,000
OHAEX =Hg 7 200,000& *2004 4,000
301 LEtEAZF 500 500 0
12 JIEt2 &= 500 500 0
= 0f 500 500 0
OeIZ2IIE253 | MO Z&=
50,000& x10H 500
13182 ME =017| 4,102 3,699 403
101 elA4| 4,102 3,699 403
04 JAM2RUER 4 4,102 3,699 403
=04 4,102 3,699 403
O181 83 HHUA AFSZE AEH A 4,102
AR==1 66,800 x6H x10 4,008
- NE2H 4,008,000& *1.5% 61
—&HEE 4,008, 000& *0.8% 33
SsdotY &5 K& 20,000 30,000 210,000
= 6,000
& 2,800
Al 11,200
401 A&BIZ =208 20,000 30,000 A 10,000
= 6,000
= 2,800
Al 11,200
01 Al&HI 20,000 30,000 A 10,000
= 6,000
== 2,800
Al 11,200
= 0l &F 20,000 30,000 210,000
= 6,000
= 2,800
Al 11,200
O Z2=sHJIg =8AE &X
5,000, 0003 =44 20,000
= 6,000
= 2,800
Al 11,200
Ao Hot Y MHEESTAY UASHH XH 87,000 57,000 30,000
307 Qlztol ™ 87,000 57,000 30,000
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SN

HATAY

M HAUL(BEES/HIIS)
e WEE 20U E S8t N =8 (e &
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;lﬁ% HRE2
02 CIZHEMAIEE =X 87,000 57,000 30,000
= 0l & 87,000 57,000 30,000
olMgsuUs8H 29X&
28,500,000 14! 28,500
oMes sdAME XA 28,500, 000& * 14! 28,500
OZctAE HM=Z3 AOEN ol & &4
SIE <& 22t &5 XI& 30,000,000 *14] 30,000
HHEY =H82M=2 & 24,700 16,120 8,580
2 2,470
= 2,470
Al 19,760
301 ot A= 24,700 16,120 8,580
= 2,470
== 2,470
Al 19,760
12 JIEtEAZ2 24,700 16, 120 8,580
= 2,470
c 2,470
Al 19,760
= O & 24,700 16,120 8,580
= 2,470
c 2,470
Al 19,760
Og9sHHY =H&EHZ X3
24,700,000 « 14! 24,700
= 2,470
o 2,470
Al 19,760
=XAAIOISHEHEH HME &4 536,981 326,000 210,981
101 21218 44,741 0 44,741
04 JRM2EZNER 4 44,741 0 44,741
= 0ff A 44 741 0 44 741
OYAOI2HEH 298X & SH3HY oA
ull 44,741
EAR==1 66,800& x2H x21 x 122 33,668
-85 66,800& x2H x52 6,948
— =203 40,616,000 *4 .5% 1,828
—2ALE2E 40,616,000& 3. 12% 1,268
- 118EE 40,616,000& *1.5% 610
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SN

HATAY

FH: yAA2(BEES/HIIZ)
ool WEES 2HHE S8 WA= CERE
x 5 . 0 & o rSRER Page -
SA B S(BH) - MEMY - BES iz T BlRE2
—MHEH 40,616,000& x0.8% 325
—EIRYEH 1,268,000& *7.38% 94
201 et 130,200 0 130,200
01 AFR2eldl 71,200 0 71,200
= Off & 71,200 0 71,200
OYAOIEHdH WsZ2 )3 A1
2A124) 110,000 »2H 12« 12& 31,680
OSAMOIZHH MEEZ2OYH Bx2ZA =
SH(123A12H) 110,000 » 1H 8L 123 10,560
OYAOISHEH BNsZ203 WM ME
10,000& x4 & 2505 10,000
OYAOIZ2HEH 822 44X & M
1,000& x5& *1,000% 5,000
OZMOISHH 2ZR3E &+
100,000 5% »23| 1,000
OYAOIZ2HEH AMRES 72
300,000& x12& 3,600
OYAOIZ2HH F=D1, HIO S
150,000& =122 1,800
OZMELH &I, 20| etdze|
=== 300,000& 122 3,600
OYAOIZ2HEH S A 180,000& =122 2,160
OYAMOIZME EHOIK S0 & SAE
H & 150,000& = 12& 1,800
02 2329l 24,000 0 24,000
= Ofl & 24,000 0 24,000
OYAOI2HEH #2323 200,000& »12& 2,400
OYAOIZ2HEH SANAE 23
800,000& +x12& 9,600
OZAMOIZHE dot=E 2=
200,000& »12& 2,400
OZAMOIZHH HY, dat SRS
100,000& =122 1,200
OSAMOISHEH HAMEAMNE SRI2e
500,000& x12& 6,000
OZAMO0ISHE EAEE 7Y
200,000& »12& 2,400
03 dAL2EHI 35,000 0 35,000
= Off &t 35,000 0 35,000
SAIOISHEH JH2A F IH2EAIS 2L
25,000,000& =12l 25,000
OZAMOIZ HE 28 10,000, 000& 12| 10,000
202 Ol 2,040 0 2,040
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SN

HATAY

M A (BRES/HIIE)
ool HER 208 S8 N s R
x s . O &t o8 & & 0] Ak o -
SN JH .2 (3) - MEMNY - BES (Z= o) (713 o) Hwns2
01 =0t 2,040 0 2,040
=20 & 2,040 0 2,040
HAOIZME ZHE HENE =X 04l
0,000 %22 +32 %53 1,800
OYAOISMEl FIIQHFE B2 L B3 2L
X g ol 60,0002 12 *42 240
206 M2l 16,000 0 16,000
01 Ml 16,000 0 16,000
=20 & 16,000 0 16,000
OYA0IZ HEe neHa 7Y
5,000 *100% * 122 6.000
OFAITOIE A2 RISTHS 216t T
2 2¢ 100,0002 ¥50% *23| 10,000
401 AlEHI LSO 300,000 326,000 26,000
01 Al&H 298,000 326,000 £.28,000
=20 & 298,000 326,000 ~28,000
OSAOIZHME ZF L2X AA0IZ S
ZH x4 298,000,000 *14! 298,000
03 Al&S Y 2,000 0 2,000
= 04 o 2,000 0 2,000
OAAOIZHE ZX Y2X A2 EH
Z A LU 2,000,0002 * 14! 2,000
405  XHaHE SH 44,000 0 44,000
01 TMUYESEHSH 40,000 0 40,000
=20 & 40,000 0 40,000
OLAOIZME ZHl L HIE 2
40,000,000 14! 40,000
02 TATLH 4,000 0 4,000
= 04 o 4,000 0 4,000
OHAOIZHE =23HH TN 7
20,0008 *100Z *23] 4,000
MEE SUOY SXAY 74,826 175,000 A100,174
= 37,413
Al 37.413
401 AlEBILSOH 74,826 175,000 A100,174
= 37,413
Al 37,413
01 Al&H 74,826 175,000 100, 174
= 37,413
Al 37,413
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M EANE L
FH: yAA2(BEES/HIIZ)
ool WEES 2HHE S8 WA= CERE
x 5 . 0 & o rSRER Page -
SA B S(BH) - MEMY - BES iz T BlRE2
= Off & 74,826 175,000 A 100,174
= 37,413
Al 37,413
O Messuote EX1 12,471,000 «64 & 74,826
= 37,413
Al 37,413
SASFHIIS2 23 ¥ HEFE Hel 3,614,380 3,316,426 297,954
SASFHIIS ¢EFE Hel 3,614,380 3,316,426 297,954
101 elAd4| 15,310 13,806 1,504
04 JIZtHZ22UHsE+ 15,310 13,806 1,504
= Ofl & 15,310 13,806 1,504
OSASFHIIS 2R MIE AE=
At 7,655
—Jl=s 66,8003 x8H x14 7,482
—1E2E 7,481,600& x1.5% 113
—MNHEH 7,481,600& x0.8% 60
OSASFHIIZS SN S HEBHXZA 7,655
—JleEas 66,8003 x8H x14 7,482
—1E2E 7,481,600& x1.5% 113
—MHEEZ 7,481,600& x0.8% 60
201 et 72,770 65,000 7,770
01 AFR2Zeldl 52,000 52,000 0
= Off & 52,000 52,000 0
OSASFHII=S 2 ¢ 2cHsE 222
M= 100& *20,0000H 23| 4,000
OsA2FHII2 UM 254
8,000,000& =14l 8,000
OSASFHIES =2 = U&=
10,000, 000& 42| 40,000
02 22293l 20,770 13,000 7,770
= Ofl & 20,770 13,000 7,770
O RFIDSE M ZclAAE SN2
= 89 67,0002 »310CH 20,770
206 M= 4l 61,300 62,620 21,320
01 M=l 61,300 62,620 A 1,320
= Off & 61,300 62,620 21,320
OZsFH SASFHIS =HEI &=
s Y 14,0002 *1,9504 27,300
OFHAXSA SASFRHIIS =HEI N
At 5,000& =2, 000All CH 10,000
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SN
X ZH -
L=

el

e}

AT
Hidel(8dEsS
2

o)
{0
]
{0

Oll &F o

& 1 = 0f 4 o

2AH -3 -H(3H) - RN - BES (Z= o) (713 o) HusZ
OSASEHIIS AHE 24,000
— 62/ E 252 *15,0007 * 122 4,500
— 102§ 25 *2,0000 * 122 600
— 202§ 35 *15,0007H * 122 6,300
— 1202/ 35 *30,0007H * 122 12,600
307 QI2A0IF 2,755,000 2,755,000 0
02 BIRHAAARE 95,000 95,000 0
=20 & 95,000 95,000 0
OSASRHIIS +HEI HNHHI(ZSE
&) 95,000,000 * 14! 95,000
05 pItglerz 2,660,000 2,660,000 0
=20 & 2,660,000 2,660,000 0
OSAESEHIIES Hel 2ASiatl
2,660,000, 0002 *14] 2,660,000
308 XXIEHSOIH 10,000 10,000 0
08 DEINBHHEESE 10,000 10,000 0
=0 & 10,000 10,000 0
OSASZHIIS LMY Z20Y 29
stn X9 2,000,0002 %574 1 10,000
401 AL 450,000 350,000 100,000
01 Al&H] 450,000 350,000 100,000
=20 & 450,000 350,000 100,000
OSAESXASAIE ZH 244
50,000,000 * 14! 50,000
OSASXASAE SHEa HE 2B
At 400,000,000 * 14! 400,000
402 QAT =0IH 60,000 60,000 0
01 BIANZALSE (M) 60,000 60,000 0
=20 & 60,000 60,000 0
OSASIAZTII B2 2=y 2
steA & 10,000,000 *67H 4 60,000
405 RroE S 190,000 0 190,000
01 TMUYSEHSH 190,000 0 190,000
=20 & 190,000 0 190,000
OSASXASAL SHINAE 7Y
95,000,0002 *2CH 190,000
AXNE HYR 222 3,013,655 1,561,488 1,452,167
= W ALE el 596,295 319,128 277,167
201 sty 177,115 177,115 0
I
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SN

HATAY

HE: HAp(HFLE/HIIS)
ol 2XE HEE 2B (B9 @2
x s . O &t o8 & & 0] Ak o -
SN (SA) - HEMY - BES HE o) (713 o) Hns2
01 A2l 45,275 45,275
= 0 & 45,275 45,275 0
OME +BAA 448 6,680
— XI5t 24 Al 170,0002! +42 #43] 2,720
— BN 330,000 +122 3,960
OMBE ®IIQAER2IHY 242
160,0002! 128 1,920
OME M o1®s 2@ 76,0008 %53 380
O R =47 ZH S A
110,0002! *1CH #43] 440
ORANBAAE HAS |
70,0002 *124 840
ONER gxg a7 2 7
170,0002 x23] 340
OMBEAL ZH2Y H2PY
500%! %50 * 122 300
OZtTeH YXE 200,000 +10H*122 2,400
OMYRZEEH €4 2 ca7 1,430
— o 640,000 *1CH x23] 1,280
-c 150,00021 *1CH#13] 150
OMER 22 SUL+E I S 7
d 100,0002 x23] 200
OMg® Yxx+gy 28,920
—ax 60,0001 *1% #1172 7,020
—=x 60,0002 *1% 3652 21,900
OXe= DY(WYE NHA)
200,000 *58 13| 1,000
O PY(HYF HA) 15,0008 +5% «13] 75
O3t PY(HWYE XA) 10,0008 +5% «13] 50
Oxtg HI| AR 75,0002 %2CH 23] 300
02 ZZ2YH| 131,840 131,840 0
= 0l & 131,840 131,840 0
OFELHUF FHSAX Helyl
60,0002 *100m *23] 12,000
OWueIl SXHI(HYF)  250,0002 «2CH 500
ONEE SAS +H2T
60,0008 *335 *1/4 495
OMBE ME84+ +326 2 WK
2| 1,957,000 *17H 4 1,957
OMYE M2E4+ 293 34
200,000 27} 4 x23] 800
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A EANE L

M HAUL(BEES/HIIS)
e 2Xs Hgds 2g22 (e &
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
O&EEEXMelE ZHE A2l
2,000,000& *13] 2,000
OE&E HI2U =24l 1,000, 000& *33] 3,000
OO0lIEX, 227 ¥ s8222)| A2
ull 250,000& *x33] 750
Olgs sE228H KA 8,000
— 24| 800,000& x103] 8,000
Ol SEEXH 7724 30,600
— 24| 1,200 %854 *300 30,600
OEZEH(15E) A & SF724| 6,218
— S AlH| 400,000& *102] 4,000
— S 24l 1,200& *154¢ «12& 2,218
Ogdxtgd A 4 32| 6,204
— S Xl bl 400,000& 103/ 4,000
— S 24l 1,200& *153¢ «12& 2,204
O=4D| B0l WX & =2l 6,400
— EFOI ] 300,000 *8IH 2,400
— B0l = =2l 4,000,000& = 1CH 4,000
OE® &3 15,720
— AR A (YeE) 550,000 x12& 6,600
— &Ml () 760,000 x12& 9,120
O & &otx=x 22 200,000& «12& 2,400
OXNHSSHZS(HEZ) 560
— 24| 250,000 *2CH 500
— 0l & Xt 60,0003 = 1CH 60
OSHAMNEELZ(MHEE ANE2)
172,500& *23| 345
OYZA AHIA B ASHI(HEH)
9503 *20 *BA| 2t*2JH A %95 2,888
Olfgd HeE HaHI(ER)
9502 x14 *8A| 2t*x20H x95! 1,444
OS2 Al XY (OHZA) 100,000 x53] »1CH 500
OMEE Ma HZXC o ZH|
200,000 x6H 13| 1,200
OEHE JtNEHS SF3MRE 2
162,000& »3CH 486
OMEAIAE HIIZA =42 (013Y)
21,373,000& *13] 21,373
ONEd M4 (2E) 489
2,000,000 *x3=2*13| 6,000
202 0| 1,080 960 120
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SN

HATAY

HE: HAp(HFLE/HIIS)
ool 2SS HEE e

Oll &F o

& 1 = 0f 4 o

SA B S(BH) - MEMY - BES iz T BlRE2
01 =Uyoibl 1,080 960 120
=00 & 1,080 960 120

OFEL $EAA 22 60,0008 «2% +03] 1,080
206 T2 43,100 50,000 £6,900
01 M 43,100 50,000 £6,900
= 0] & 43,100 50,000 £6,900
Ol = Z2tl 23,000 702! £ 16,100
OFELH2Y GBI YH 1,000 +3,00004 3,000
OMEE SEMN 2 8,0002 *3,000m 24,000
308 XAESHSOIH 350,000 0 350,000
1 JIE=g3 350,000 0 350,000
=0 & 350,000 0 350,000
OMEHIIZ HELES 350,000,0008 «14] 350,000
401 ANZHIL LY 25,000 83,000 58,000
01 Al 25,000 83,000 58,000
=0 & 25,000 83,000 58,000
O ZL 2 AIBCCTV & X2 AF
25,000,000+ 14} 25,000
R oIES U QOHRY A&+ 53X I 50,000 105,000 A55,000
o
305 HAZS 50,000 105,000 55,000
01 HA3S 50,000 105,000 55,000
=00 & 50,000 105,000 55,000
O otet® AN Do
50,000, 0002 *14] 50,000
SANSHEH FH Fo S/ 40,000 10,000 30,000
402 PIAT =0 40,000 10,000 30,000
01 SIRS AR E (XA TR ) 40,000 10,000 30,000
=0l 4 40,000 10,000 30,000
FUSHYE ZoI&AAL
40,000, 000! *144 40,000
MBHIISHYE e BAAS 70,000 70,000 0
308 XAESHSOIH 70,000 70,000 0
07 MXESHLRYS 70,000 70,000 0
=00 & 70,000 70,000 0
OMEBHIIZHY S 2 BOME (TS
XNsH) 0,000, 0002 *14] 70,000
BAE 29 e 57,360 57,360 0

Al
|

- 937 -




SN

HATAY

HE: HAp(HFLE/HIIS)
ol 2XE HEE 2B (B9 @2
x s . O &t o8 & & 0] Ak o -
SA B S(BH) - MEMY - BES iz T BlRE2
201 Yur2Hl 57,360 57,360 0
01 At el 2,160 2,160 0
= 0 &t 2,160 2,160 0
OYAHSAL 222 72 180,002 +122 2,160
02 B2l 55,200 55,200 0
=0 & 55,200 55,200 0
OFbl o2l 1,20021¥3002 #1202 #1CH 43,200
OYAREAL L ZH RX 22
1,000,000 * 128 12,000
MEEIIZ HEH 582 €X He 2,000,000 1,000,000 1,000,000
401 ANEHL2UY 2,000,000 1,000,000 1,000,000
01 Al&HI 2,000,000 1,000,000 1,000,000
=04t 2,000,000 1,000,000 1,000,000
OME st EX MY
2,000,000, 000! *141 2,000,000
MEEIISHEE FHl L £H0ISAY 200,000 0 200,000
401 ANSHILLHY 200,000 0 200,000
01 Al&HI 200,000 0 200,000
=0 & 200,000 0 200,000
OMZHIIZSHYE IH L 2E0ISAY
Jl2 2 MAEN S 200,000,0009 14 200,000
RA=SHE 2GB 7,954,917 7,366,909 588,008
HR=BHE AN 29 7,883,817 7,297,209 586,608
201 ety 99,600 79,600 20,000
01 At el 78,000 58,000 20,000
=0l 4t 78,000 58,000 20,000
OHJIZ &4 XA 42 2,000,0002 18] 2,000
ONYULSHEH 2SY2AR 22 2ES
+2 20,000,000 *141 20,000
ONSA2 FABY SHN L W2
AE 242 56,000, 000 *14! 56,000
02 2zl 21,600 21,600 0
=0 & 21,600 21,600 0
ONYzadE U)12Y SFI| &Il «
sz 700,0002 * 128 8,400
ORA=SHE HILQISHEA AT
SX 24t 1,100,000 * 122 13,200
202 Oft 1,920 2,160 240
01 =uoibl 1,920 2,160 A240
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SN

HI: HARAC(BFES/HIIE)
Sel: =sdy 2922 S
% = = 0l &FoH & S T 0] AFoH ~
A& .S (3H)- - HEAY - HAS (ZE o) (I o) Hns2
=0l A 1,920 2,160 A 240
OXNR=stdE YR X0
20,0008 x3H 22 » 122 1,440
ONastHE R A8
60,0002 x4 22 x13] 480
203 YREH 4,000 2,000 2,000
03 AHFXARFZY| 4,000 2,000 2,000
=0l A 4,000 2,000 2,000
OXNR=sEE YR AMEAH
4,000,0008 * 14! 4,000
301 Lt A3 111,998 101,000 10,998
12 JIEtE A= 111,998 101,000 10,998
= 0f| At 111,998 101,000 10,998
OXNRa=stdlE =0AARY SSH B4
27,999,500 x4 H 111,998
401 Al&H L2 50,000 0 50,000
01 Al&dl 50,000 0 50,000
=0l A 50,000 0 50,000
ONastdlE KRAAA 22E SHEAR
A AY 50,000, 000 14l 50,000
402 QIZtXE0| A 7,616,299 7,112,449 503,850
03 BIZHRIEFAHI 7,616,299 7,112,449 503,850
= 0] & 7,616,299 7,112,449 503,850
OXNR=stdlE Bt HII2 HMaldl
200,063 *104.3E *3652 7,616,299
FRASSHE HEANE 29 71,100 69,700 1,400
201 e 9H| 10,400 14,900 A 4,500
01 At Z2lH| 5,400 9,900 A 4,500
=0l A 5,400 9,900 A 4,500
OX=sns Ast 2 HE Xt 2 XHH|
450,000 *13] * 122 5,400
02 2E2=29H| 5,000 5,000 0
= 0f| At 5,000 5,000 0
OAM&ZEH SX 22l 1,000,000 *53| 5,000
307 QI2t0| & 60,700 54,800 5,900
05 pIztAerza 60,700 54,800 5,900
=20l At 60,700 54,800 5,900
OX&sdH HMEZZIOY 2 2EH|
5,058,330 122 60,700

- 939 -




SN

HATAY

M A (BI2E/HIIE)
Cel: AR MEHIIS MAE X4 (69l @
x s . O &t o8 & & 0] Ak o -
SA B S(BH) - MEMY - BES Sz T BlRE2
MR MEHIIS HeANE B4 166,920 0 166,920
AR MEBEIIS HeANE =& 117,000 0 117,000
401 ANEHLLHY 117,000 0 117,000
01 Al&HI 117,000 0 117,000
=0l 4 117,000 0 117,000
OUNHE EIZH XA 89 U MY
S I B 117,000,000 * 14! 117,000
NEELFEEN 49,920 0 49,920
201 LBt 20,400 0 20,400
01 AtRZelHl 20,000 0 20,000
= 0f ot 20,000 0 20,000
OYUNHF2Y 2 ARyl
20,000,000% *14] 20,000
02 Zz2g 400 0 400
=0l & 400 0 400
OUNHEY 2t PHE 2223
100,000 *43] 400
202 OfHl 5,520 0 5,520
01 2ol 5,520 0 5,520
= 0f 5,520 0 5,520
OMtH&E HM MEK A
60,0002 ¥4 +153] 3,600
ONAeg AEXNY L DIEA oY
60,0002 *42 *22 %43 1,920
301 LsBAR 24,000 0 24,000
09 HBAIAHIBAD 20,000 0 20,000
= 0f 20,000 0 20,000
SEE-LBE 2,000,000 54! 10,000
ON=g HISH HAX 28
2,000,000 53] 10,000
12 JlEE A 4,000 0 4,000
=0l 4 4,000 0 4,000
OZH3l S N+ o2l
200,0002 *202 4,000
BH2AAY (=8 T)(OIEH/IIE) 9,175,773 8,915,826 259,947
o122 gyl 9,028,237 8,776,989 251,248
olz 2 ey 9,028,237 8,776,989 251,248
101 Q12| 9,028,237 8,776,989 251,248
01 22 248, 147 230,536 17,611
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SN

PRSI SHAAH (K =st1)(IIEH/DIIEH
£r9l: ol 2 ey CERT
M- =3 S92 (3) - HEAY - a2 (ggj) @(ijf;ﬁ% HRE2
= 0l & 248,147 230,536 17,611
OAZt2 222¢
10,299 & *40H *30A| 2H+12& 148,306
OFAXY 2HE SL22Y
82,7863 x18H x62 92,390
OEH 5d224¢ 82,7863 x2H x45L 7,451
03 RIAHLZZXHE S 8,780,090 8,546,453 233,637
= 0l & 8,780,090 8,546,453 233,637
Ostd0lsta g 8,780,090
EAR==1 1,914,230& x125H = 12& 2,871,345
—J|g=xg 2,074,230 1252 x200% 518,558
- &2 2,024,070 1252 x100% 253,009
— MEcEy| 2,074,230& *125H *250% 648,197
—AlZ2te 22+Y
22,4543 x125H x50 Al 2Fx 128 1,684,050
— Y E S| 2,074,230& x125Y x120% 311,135
—IIExg 119,040
bl < Xt 40,0003 *125Y «12& 60,000
S2IE 20,000 x246H x12& 59,040
— M ZAY| 160,000& * 125 128 240,000
—XHEH EXLY(DEEHM)
365,000& *40Y *43| 58,400
— AHX =G 119,756 & *125H 25 374,238
—20HAILEEES 6,703,732,000& *4 .5% 301,668
—HAEE= 6,703,732,000& *3.12% 209,157
—EE8= 6,703,732,000& *1.5% 100,556
— A RYEE S 180,983, 000& *7.38% 13,357
—MHEEZ 6,703,732,000& *x8/1,000 53,630
- BN DN ESE= 180,000, 000& 5H 900,000
— stF0lstd =Xyl 5,000
SE0ISE MECAY
40,000& 1259 5,000
— SF0Istd I =bl 118,750
0= 100,000& * 1259 *23| 25,000
gtsts 100,000& *125H 12,500
oOtM G & &G 80,000& *125H 10,000
oL 2 10,0002 x125%Y 1,250
29 20,000& x1259H 2,500
oF2 =) 20,000& *125Y *33| 7,500
a2 10,0003 *125H x23| x 12& 30,000
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A EANE L
X

Mz HMSAHH| (X =21)(IIEH/IIE}H)
Erol: ple 2oyl CER-E
SN BB S(BH) - MBAY - BaS ggi) @(ijf;ﬁ% HRE2
OISR ol OtA3 ¢
20,000& *»125H «12& 30,000
Jl2& bl 147,536 138,837 8,699
Jl2&l 147,536 138,837 8,699
201 AE2AH| 35,816 34,317 1,499
01 At 2telt] 34,516 33,017 1,499
= 0ff &F 34,516 33,017 1,499
OJle AREEH 10,000 *362 x12& 4,320
OA224 2EF22H| 425,950 x12& 5,112
O=AEA 7Y 22,000 x 138 A x 128 3,432
OZeHEYH ¥ =832 1,840
2HE ZelH 300,000& *2CH x23| 1,200
—A3A ZelH 80,000& *1CH =33/ 240
—Ccg3¢ 200,000& *x2CH *13] 400
OJl2gR F8 23 4|
8,000& 24 6 x12& 13,824
OZelZelH Xz 350,000& 10 =12& 4,200
O Xtz 36,000 x 122 x201 A~ 864
OAIR4A &S| ASH| 1,000 *27 1 x12& 324
OFAXSE 2N 257
50,000& x12& 600
02 =249l 1,300 1,300 0
= 0l & 1,300 1,300 0
OAMBA SAIIK A 100, 000& *53| x2CH 1,000
Ost=2HII=28 3t 300,000 13| 300
202 04| 98,400 91,200 7,200
01 =2UWAH 98,400 91,200 7,200
= 0l & 98,400 91,200 7,200
OJI2g2a8 2UHESE U
20,000& x41H x10 =122 98,400
203 YRl 13,320 13,320 0
04 PASIYLIRE=XH| 13,320 13,320 0
= 0l & 13,320 13,320 0
ORNME2Y A28l 1,110,000& x12& 13,320
NRE=S (A=) (BHFES/HIIS) 250,000 250,000 0
WEHAH XK= 250,000 250,000 0
LHE e 250,000 250,000 0
702 Jl=2dsz=2 250,000 250,000 0
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HATAY

Hu: YRS (NE8D)(BILS/HIIS)
Ehel: HREHHX = (o2&
x 5 . 0 & o rSRER Page -
SA B S(BH) - MEMY - BES (ZE o) (1= o) BlRE2
[= =] [= ]
01 JI=d&E=s 250,000 250,000
= Off & 250,000 250,000 0
OXestdleH =8 FAUXIIS(SH
SETIHHS 10%) 2,500,000, 000& *10% 250,000
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